BID TABULATION 2020 HMA ROAD REHABILITATION PROGRAM

CITY FILE #E20-002

BID OPENING DATE: 3:00 P.M. Tuesday, February 25, 2020

Engineers Pro-Line Asphalt Florence Cement Company Ajax Paving Industries, Inc. Estimate 11797 29 Mile Rd. 51515 Corridor 1957 Crooks

Part A.	Part A: Local & Major Streets: Various Locations			22-Jan-20		Washington, MI 48095		Shelby Twp., MI 48315		Troy, MI 48084	
Item				Unit	Juli 20	Unit	JII, IVII 40033	Unit Unit	, 1411 40010	Unit	VII 40004
No.	Description	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total
1	Cold Milling HMA Surface	43,000	Square Yard	\$2.50	\$107,500.00	\$3.00	\$129,000.00	\$2.65	\$113,950.00	\$3.00	\$129,000.00
2	HMA Surface, Rem	8,650	Square Yard	\$7.00	\$60,550.00	\$3.00	\$25,950.00	\$2.75	\$23,787.50	\$4.00	\$34,600.00
3	Concrete Surface, Rem	1,000	Square Yard	\$15.00	\$15,000.00	\$2.00	\$2,000.00	\$14.30	\$14,300.00	\$6.50	\$6,500.00
4	Conc Curb & Gutter, Rem	1,300	Foot	\$9.00	\$11,700.00	\$5.00	\$6,500.00	\$21.40	\$27,820.00	\$13.00	\$16,900.00
5	Conc Driveway, Rem	30	Square Yard	\$15.00	\$450.00	\$25.00	\$750.00	\$17.50	\$525.00	\$12.00	\$360.00
6	HMA Driveway, Rem	220	Square Yard	\$12.00	\$2,640.00	\$10.00	\$2,200.00	\$18.70	\$4,114.00	\$10.00	\$2,200.00
7	Culv, Cl A, CSP, 12 inch	500	Foot	\$50.00	\$25,000.00	\$50.00	\$25,000.00	\$54.25	\$27,125.00	\$68.50	\$34,250.00
8	Culv, Cl A, CSP, 18 inch	10	Foot	\$50.00	\$500.00	\$100.00	\$1,000.00	\$85.60	\$856.00	\$114.00	\$1,140.00
9	End Section, CSP, 12 inch(as needed)	6	Each	\$200.00	\$1,200.00	\$250.00	\$1,500.00	\$394.00	\$2,364.00	\$425.00	\$2,550.00
10	Regrade Ditch (If Necessary)	300	Foot	\$6.00	\$1,800.00	\$16.00	\$4,800.00	\$16.45	\$4,935.00	\$12.00	\$3,600.00
11	Drainage Structure, Temporary Lowering	12	Each	\$300.00	\$3,600.00	\$450.00	\$5,400.00	\$472.50	\$5,670.00	\$370.00	\$4,440.00
12	Manhole Cover, Collar	12	Each	\$300.00	\$3,600.00	\$550.00	\$6,600.00	\$1,585.50	\$19,026.00	\$1,800.00	\$21,600.00
13	Utility Structure, Adjust w/ EJ Riser Rings	4	Each	\$250.00	\$1,000.00	\$300.00	\$1,200.00	\$351.40	\$1,405.60	\$1,215.00	\$4,860.00
14	Sanitary Structure Cover, Adjust	9	Each	\$800.00	\$7,200.00	\$1,000.00	\$9,000.00	\$477.00	\$4,293.00	\$1,290.00	\$11,610.00
15	Water Gate Valve and Well Cover, Adjust	3	Each	\$350.00	\$1,050.00	\$750.00	\$2,250.00	\$308.00	\$924.00	\$1,290.00	\$3,870.00
16	Drainage Structure, Adjust	20	Each	\$400.00	\$8,000.00	\$600.00	\$12,000.00	\$674.30	\$13,486.00	\$990.00	\$19,800.00
17	Drainage Structure, Reconstruct	20	Foot	\$200.00	\$4,000.00	\$100.00	\$2,000.00	\$346.80	\$6,936.00	\$475.00	\$9,500.00
18	Drainage Structure, Recondition	20	Each	\$50.00	\$1,000.00	\$250.00	\$5,000.00	\$229.60	\$4,592.00	\$325.00	\$6,500.00
19	Sump Pump Drainage Collection Line, 8 inch, Armco A2000	100	Foot	\$30.00	\$3,000.00	\$40.00	\$4,000.00	\$33.75	\$3,375.00	\$61.25	\$6,125.00
20	Sump Pump House Lead, 4 inch, Armco A2000	100	Foot	\$35.00	\$3,500.00	\$30.00	\$3,000.00	\$32.00	\$3,200.00	\$51.35	\$5,135.00
21	PVC End Cap for Sump Pump Lead, 4 inch	10	Each	\$50.00	\$500.00	\$20.00	\$200.00	\$33.50	\$335.00	\$74.80	\$748.00
22	Connect Existing House Sump Pump Discharge Line	10	Each	\$300.00	\$3,000.00	\$250.00	\$2,500.00	\$303.75	\$3,037.50	\$180.00	\$1,800.00
23	Edge Drain, 6 inch (Modified)	6,000	Foot	\$14.00	\$84,000.00	\$13.50	\$81,000.00	\$16.60	\$99,600.00	\$16.15	\$96,900.00
24	21AA Aggregate under Selective Concrete C&G Replacement, 6 inch depth	400	Ton	\$40.00	\$16,000.00	\$1.00	\$400.00	\$16.10	\$6,440.00	\$50.00	\$20,000.00
25	Curb and Gutter, Conc, Replace Existing	1,500	Foot	\$20.00	\$30,000.00	\$10.00	\$15,000.00	\$38.50	\$57,750.00	\$26.92	\$40,380.00
26	Curb and Gutter, Conc, Det B2	110	Foot	\$24.00	\$2,640.00	\$31.00	\$3,410.00	\$41.00	\$4,510.00	\$26.92	\$2,961.20
27	Conc Sidewalk Curb, Integral w/ walk, 6 inch width (max 8 inch height)	30	Foot	\$10.00	\$300.00	\$20.00	\$600.00	\$40.00	\$1,200.00	\$26.92	\$807.60
28	Conc Driveway, Nonreinf, 6 inch	30	Square Yard	\$65.00	\$1,950.00	\$51.00	\$1,530.00	\$58.75	\$1,762.50	\$58.37	\$1,751.10
29	Pavt Joint and Crack Repr, Detail 7	21,500	Foot	\$5.00	\$107,500.00	\$7.00	\$150,500.00	\$4.80	\$103,200.00	\$8.00	\$172,000.00
30	Pavt Joint and Crack Repr, Detail 8	1,000	Foot	\$7.00	\$7,000.00	\$7.00	\$7,000.00	\$6.50	\$6,500.00	\$8.00	\$8,000.00
31	Hand Patching HMA, 1100	1,100	Ton	\$50.00	\$55,000.00	\$15.00	\$16,500.00	\$103.70	\$114,070.00	\$85.00	\$93,500.00
32	21AA Aggregate Base	3,000	Ton	\$30.00	\$90,000.00	\$22.00	\$66,000.00	\$20.75	\$62,250.00	\$30.00	\$90,000.00
33	Shoulder, Class II	160	Ton	\$25.00	\$4,000.00	\$60.00	\$9,600.00	\$49.70	\$7,952.00	\$50.00	\$8,000.00
34	Shoulder, HMA 4E3 (PG 64-22)	500	Ton	\$100.00	\$50,000.00	\$120.00	\$60,000.00	\$106.50	\$53,250.00	\$115.00	\$57,500.00
35	Subgrade Undercutting, Type II (Modified)	300	Cubic Yard	\$40.00	\$12,000.00	\$10.00	\$3,000.00	\$47.40	\$14,220.00	\$70.00	\$21,000.00
36	Subgrade Undercutting, Type II (Special)	600	Cubic Yard	\$40.00	\$24,000.00	\$10.00	\$6,000.00	\$55.50	\$33,300.00	\$68.00	\$40,800.00
37	TriAx TX130S Geogrid for 21AA or approved equal	900	Square Yard	\$5.00	\$4,500.00	\$1.00	\$900.00	\$2.00	\$1,800.00	\$2.50	\$2,250.00

BID TABULATION 2020 HMA ROAD REHABILITATION PROGRAM

CITY FILE #E20-002

BID OPENING DATE: 3:00 P.M. Tuesday, February 25, 2020

Engineers Pro-Line Asphalt Florence Cement Company Ajax Paving Industries, Inc.

Estimate 11797 29 Mile Rd. 51515 Corridor 1957 Crooks

Part At Local & Major Streets: Vertous Locations

Part At Local & Major Streets: Vertous Locations

Town MI 48084

Part A:	Part A: Local & Major Streets: Various Locations			22-Jan-20 Washing		ton, MI 48095 Shelby Tv		o., MI 48315	Troy, N	Troy, MI 48084	
Item				Unit		Unit		Unit		Unit	
No.	Description	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total
38	TriAx TX150L Geogrid for 1 in. x 3 in. crushed concrete or approved equal	1,800	Square Yard	\$5.00	\$9,000.00	\$1.00	\$1,800.00	\$4.60	\$8,280.00	\$3.65	\$6,570.00
39	Machine Grading (Modified)	28	Station	\$3,000.00	\$84,000.00	\$8,000.00	\$224,000.00	\$1,638.00	\$45,864.00	\$4,525.00	\$126,700.00
40	HMA, 5E3 (PG 64-22)	6,230	Ton	\$100.00	\$623,000.00	\$90.00	\$560,700.00	\$105.00	\$654,150.00	\$105.00	\$654,150.00
41	HMA, 4E3 (PG 64-22)	4,330	Ton	\$100.00	\$433,000.00	\$89.00	\$385,370.00	\$98.00	\$424,340.00	\$90.00	\$389,700.00
42	HMA, 1100 (Modified)	1,290	Ton	\$100.00	\$129,000.00	\$5.00	\$6,450.00	\$140.00	\$180,600.00	\$150.00	\$193,500.00
43	HMA Approach, (Modfied)	75	Ton	\$140.00	\$10,500.00	\$140.00	\$10,500.00	\$193.80	\$14,535.00	\$230.00	\$17,250.00
44	Concrete Sidewalk, Rem	120	Square Foot	\$2.00	\$240.00	\$5.00	\$600.00	\$4.35	\$522.00	\$5.20	\$624.00
45	HMA Pathway, Rem	2,500	Square Foot	\$2.00	\$5,000.00	\$2.00	\$5,000.00	\$2.10	\$5,250.00	\$1.60	\$4,000.00
46	Sidewalk Ramp, Conc, 6 inch	1,860	Square Foot	\$7.00	\$13,020.00	\$10.00	\$18,600.00	\$9.85	\$18,321.00	\$7.50	\$13,950.00
47	Sidewalk, Conc, 4 inch	400	Square Foot	\$5.00	\$2,000.00	\$10.00	\$4,000.00	\$6.80	\$2,720.00	\$4.42	\$1,768.00
48	Detectable Warning Surface	160	Square Foot	\$22.00	\$3,520.00	\$30.00	\$4,800.00	\$35.00	\$5,600.00	\$16.50	\$2,640.00
49	Temporary Gang Mailboxes (If Necessary)	1	Lump Sum	\$2,000.00	\$2,000.00	\$6,000.00	\$6,000.00	\$1,517.00	\$1,517.00	\$1,000.00	\$1,000.00
50	Topsoil Surface, 3 inch and Seeding, Mixture THM w/ Mulch	3,100	Square Yard	\$6.00	\$18,600.00	\$5.80	\$17,980.00	\$11.30	\$35,030.00	\$8.48	\$26,288.00
51	Erosion Control, Inlet Protection, Fabric Drop	18	Each	\$90.00	\$1,620.00	\$100.00	\$1,800.00	\$174.00	\$3,132.00	\$110.00	\$1,980.00
52	Pavt Mrkg, Sprayable Thermopl, 4" Yellow	8,550	Foot	\$1.00	\$8,550.00	\$0.30	\$2,565.00	\$0.25	\$2,137.50	\$0.23	\$1,966.50
53	Pavt Mrkg, Sprayable Thermopl, 6" White	5,650	Foot	\$1.00	\$5,650.00	\$0.40	\$2,260.00	\$0.35	\$1,977.50	\$0.35	\$1,977.50
54	Cold Plastic Pavt Marking 24" Stop Bar 3M 270ES	60	Foot	\$1.00	\$60.00	\$12.50	\$750.00	\$12.50	\$750.00	\$12.50	\$750.00
55	Cold Plastic Pavt Mrkg, Lft Turn Arrow 3M 270ES	2	Each	\$165.00	\$330.00	\$170.00	\$340.00	\$165.00	\$330.00	\$165.00	\$330.00
56	Cold Plastic Pavt Mrkg, Rt Turn Arrow Sym 3M 270ES	2	Each	\$165.00	\$330.00	\$170.00	\$340.00	\$165.00	\$330.00	\$165.00	\$330.00
57	Sprinkler Head	25	Each	\$65.00	\$1,625.00	\$80.00	\$2,000.00	\$32.00	\$800.00	\$108.00	\$2,700.00
58	Audio & Video Coverage	1	Lump Sum	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
59	Traffic Maintenance & Control	1	Lump Sum	\$60,000.00	\$60,000.00	\$160,000.00	\$160,000.00	\$39,150.00	\$39,150.00	\$365,000.00	\$365,000.00
60	Mobilization, Max 5% - Items 1 thru 59	1	Lump Sum	\$108,536.25	\$108,536.25	\$100,000.00	\$100,000.00	\$51,707.00	\$51,707.00	\$140,000.00	\$140,000.00

Total Part A (Items 1-60): \$2,279,261.25 \$2,196,645.00 \$2,353,404.10 \$2,938,611.90

BID TABULATION 2020 HMA ROAD REHABILITATION PROGRAM

CITY FILE #E20-002

BID OPENING DATE: 3:00 P.M. Tuesday, February 25, 2020

Engineers Pro-Line Asphalt Florence Cement Company Ajax Paving Industries, Inc.

Estimate 11797 29 Mile Rd. 51515 Corridor 1957 Crooks

Part B: Bolinger Street 22-Jan-20 Washington, MI 48095 Shelby Twp., MI 48315 Troy, MI 48084

Part B:	Bolinger Street			22	-Jan-20	Washing	on, MI 48095	Shelby Twr	o., MI 48315	Trov. M	11 48084
Item				Unit		Unit	1	Unit	.,,	Unit	
No.	Description	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total
61	Mobilization, Max (10%)	1	Lump Sum	\$30,000.00	\$30,000.00	\$40,000.00	\$40,000.00	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00
62	Pavt, Rem, Mod	900	Square Yard	\$20.00	\$18,000.00	\$9.00	\$8,100.00	\$4.50	\$4,050.00	\$9.75	\$8,775.00
63	Curb & Gutter, Rem	200	Foot	\$10.00	\$2,000.00	\$7.00	\$1,400.00	\$7.00	\$1,400.00	\$4.00	\$800.00
64	Sidewalk, Rem	250	Square Yard	\$8.00	\$2,000.00	\$5.00	\$1,250.00	\$4.20	\$1,050.00	\$4.00	\$1,000.00
65	Sewer, Rem, Less than 24 inch	250	Foot	\$35.00	\$8,750.00	\$30.00	\$7,500.00	\$30.50	\$7,625.00	\$19.25	\$4,812.50
66	Audio Visual Record of the Construction Influence Area	1	Lump Sum	\$1,100.00	\$1,100.00	\$500.00	\$500.00	\$750.00	\$750.00	\$4,250.00	\$4,250.00
67	Drainage Structure Cover, Adjust	5	Each	\$650.00	\$3,250.00	\$350.00	\$1,750.00	\$475.00	\$2,375.00	\$990.00	\$4,950.00
68	Drainage Structure Reconstruct	20	VFT	\$200.00	\$4,000.00	\$250.00	\$5,000.00	\$261.00	\$5,220.00	\$475.00	\$9,500.00
69	Dr Structure, Tap, 12 inch	1	Each	\$1,300.00	\$1,300.00	\$700.00	\$700.00	\$395.00	\$395.00	\$640.00	\$640.00
70	Exploratory, Exploration, Vertical	20	Foot	\$200.00	\$4,000.00	\$200.00	\$4,000.00	\$130.00	\$2,600.00	\$94.00	\$1,880.00
71	Water Shutoff, adj, Case 1, Mod	12	Each	\$650.00	\$7,800.00	\$250.00	\$3,000.00	\$449.00	\$5,388.00	\$570.00	\$6,840.00
72	Erosion Control, Filter Bag	3	Each	\$90.00	\$270.00	\$100.00	\$300.00	\$170.00	\$510.00	\$230.00	\$690.00
73	Erosion Control, Silt Fence	1,500	Foot	\$2.00	\$3,000.00	\$2.00	\$3,000.00	\$1.60	\$2,400.00	\$3.45	\$5,175.00
74	Erosion Control, Check Dam, Stone, Mod	1	Each	\$500.00	\$500.00	\$150.00	\$150.00	\$630.00	\$630.00	\$500.00	\$500.00
75	Construction Access Mud Mat	120	Square Yard	\$12.00	\$1,440.00	\$14.00	\$1,680.00	\$12.00	\$1,440.00	\$18.00	\$2,160.00
76	Subgrade Undercutting, Type X	450	Cubic Yard	\$55.00	\$24,750.00	\$10.00	\$4,500.00	\$40.00	\$18,000.00	\$70.35	\$31,657.50
77	Machine Grading, Mod	1	Lump Sum	\$40,000.00	\$40,000.00	\$80,000.00	\$80,000.00	\$24,000.00	\$24,000.00	\$67,960.00	\$67,960.00
78	Aggregate Base, 4 inch	650	Square Yard	\$10.00	\$6,500.00	\$9.00	\$5,850.00	\$5.75	\$3,737.50	\$7.40	\$4,810.00
79	Aggregate Base, 6 inch	500	Square Yard	\$11.00	\$5,500.00	\$9.00	\$4,500.00	\$9.75	\$4,875.00	\$11.00	\$5,500.00
80	Aggregate Base, 8 inch	2,000	Square Yard	\$12.00	\$24,000.00	\$14.00	\$28,000.00	\$10.00	\$20,000.00	\$12.30	\$24,600.00
81	HMA, 4E3, Mod	290	Ton	\$80.00	\$23,200.00	\$100.00	\$29,000.00	\$100.00	\$29,000.00	\$115.00	\$33,350.00
82	HMA, 5E3, Mod	200	Ton	\$90.00	\$18,000.00	\$120.00	\$24,000.00	\$110.00	\$22,000.00	\$150.00	\$30,000.00
83	HMA, 2C, Mod	45	Ton	\$100.00	\$4,500.00	\$140.00	\$6,300.00	\$120.00	\$5,400.00	\$200.00	\$9,000.00
84	HMA, 3C, Mod	45	Ton	\$100.00	\$4,500.00	\$140.00	\$6,300.00	\$125.00	\$5,625.00	\$210.00	\$9,450.00
85	HMA, 4C, Mod	30	Ton	\$100.00	\$3,000.00	\$160.00	\$4,800.00	\$150.00	\$4,500.00	\$245.00	\$7,350.00
86	Hand Patching, Mod	15	Ton	\$110.00	\$1,650.00	\$100.00	\$1,500.00	\$175.00	\$2,625.00	\$500.00	\$7,500.00
87	Curb and Gutter, Conc, Det B2, Mod	130	Foot	\$25.00	\$3,250.00	\$31.00	\$4,030.00	\$40.00	\$5,200.00	\$30.00	\$3,900.00
88	Driveway, Nonreinf Conc, 6 inch	520	Square Yard	\$65.00	\$33,800.00	\$51.00	\$26,520.00	\$59.00	\$30,680.00	\$58.37	\$30,352.40
89	Sidewalk Ramp, Conc, 6 inch, Mod	200	Square Foot	\$20.00	\$4,000.00	\$15.00	\$3,000.00	\$11.25	\$2,250.00	\$7.90	\$1,580.00
90	Sidewalk, Conc, 4 inch	400	Square Foot	\$5.00	\$2,000.00	\$5.50	\$2,200.00	\$7.45	\$2,980.00	\$4.42	\$1,768.00
91	Dr Structure, 24 inch dia, Mod	2	Each	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,100.00	\$4,200.00	\$2,025.00	\$4,050.00
92	Sewer, HDPE, 8 inch, Tr. Det A, Mod	750	Foot	\$30.00	\$22,500.00	\$40.00	\$30,000.00	\$44.00	\$33,000.00	\$52.35	\$39,262.50
93	Culv, CL A, CSP, 12 inch, Mod	420	Foot	\$75.00	\$31,500.00	\$50.00	\$21,000.00	\$64.75	\$27,195.00	\$59.25	\$24,885.00
94	Topsoil Surface, 3 inch and Seeding Mixture, THM w/ Mulch	2,900	Sqare Yard	\$5.00	\$14,500.00	\$5.70	\$16,530.00	\$10.00	\$29,000.00	\$8.48	\$24,592.00
95	Water, Sodding and Seeding	30	Units	\$40.00	\$1,200.00	\$90.00	\$2,700.00	\$45.00	\$1,350.00	\$54.00	\$1,620.00
96	Traffic Maintenance and Control	1	Lump Sum	\$15,000.00	\$15,000.00	\$21,500.00	\$21,500.00	\$7,000.00	\$7,000.00	\$30,000.00	\$30,000.00
97	Project Cleanup	1	Lump Sum	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$1,800.00	\$1,800.00
98	Dr Structure Cover, Mod	1,750	Pounds	\$3.00	\$5,250.00	\$2.00	\$3,500.00	\$2.00	\$3,500.00	\$1.90	\$3,325.00

 Total Part B (Items 61-98):
 \$390,010.00
 \$418,060.00
 \$366,950.50
 \$490,284.90

 Total Part A & B (Items 1-98):
 \$2,669,271.25
 \$2,614,705.00
 \$2,720,354.60
 \$3,428,896.80

BID TABULATION 2020 HMA ROAD REHABILITATION PROGRAM

CITY FILE #E20-002

BID OPENING DATE: 3:00 P.M. Tuesday, February 25, 2020

Engineers Pro-Line Asphalt Florence Cement Company Ajax Paving Industries, Inc.

Estimate 11797 29 Mile Rd. 51515 Corridor 1957 Crooks

Part C: Michelson Road 22-Jan-20 Washington, MI 48095 Shelby Twp., MI 48315 Troy, MI 48084

Part C:	Part C: Michelson Road			22-	22-Jan-20		Washington, MI 48095		Shelby Twp., MI 48315		Troy, MI 48084	
Item				Unit		Unit		Unit		Unit		
No.	Description	Quantity	Unit	Price	Total	Price	Total	Price	Total	Price	Total	
99	Mobilization, Max (10%)	1	Lump Sum	\$45,000.00	\$45,000.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$64,000.00	\$64,000.00	
100	Pavt, Rem, Mod	150	Square Yard	\$20.00	\$3,000.00	\$10.00	\$1,500.00	\$58.00	\$8,700.00	\$20.50	\$3,075.00	
101	Tree, Rem, Mod	6	Foot	\$700.00	\$4,200.00	\$1,200.00	\$7,200.00	\$1,200.00	\$7,200.00	\$1,500.00	\$9,000.00	
102	Sewer, Rem, Less than 24 inch	230	Foot	\$35.00	\$8,050.00	\$30.00	\$6,900.00	\$22.00	\$5,060.00	\$29.40	\$6,762.00	
103	Audio Visual Record of the Construction Influence Area	1	Lump Sum	\$1,100.00	\$1,100.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
104	Drainage Structure Cover, Adjust	11	Each	\$650.00	\$7,150.00	\$600.00	\$6,600.00	\$624.00	\$6,864.00	\$990.00	\$10,890.00	
105	Drainage Structure Reconstruct	30	VFT	\$200.00	\$6,000.00	\$150.00	\$4,500.00	\$318.00	\$9,540.00	\$475.00	\$14,250.00	
106	Dr Structure, Tap, 12 inch	5	Each	\$1,300.00	\$6,500.00	\$700.00	\$3,500.00	\$395.00	\$1,975.00	\$630.00	\$3,150.00	
107	Exploratory, Exploration, Vertical	25	Foot	\$200.00	\$5,000.00	\$200.00	\$5,000.00	\$500.00	\$12,500.00	\$94.00	\$2,350.00	
108	Water Shutoff, adj, Case 1, Mod	16	Each	\$650.00	\$10,400.00	\$250.00	\$4,000.00	\$530.00	\$8,480.00	\$570.00	\$9,120.00	
109	Erosion Control, Filter Bag	16	Each	\$90.00	\$1,440.00	\$100.00	\$1,600.00	\$170.00	\$2,720.00	\$110.00	\$1,760.00	
110	Erosion Control, Silt Fence	4,200	Foot	\$2.00	\$8,400.00	\$2.00	\$8,400.00	\$2.00	\$8,400.00	\$0.55	\$2,310.00	
111	Erosion Control, Check Dam, Stone, Mod	2	Each	\$500.00	\$1,000.00	\$150.00	\$300.00	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	
112	Construction Access Mud Mat	150	Square Yard	\$12.00	\$1,800.00	\$14.00	\$2,100.00	\$20.00	\$3,000.00	\$18.00	\$2,700.00	
113	Subgrade Undercutting, Type X	500	Cubic Yard	\$55.00	\$27,500.00	\$10.00	\$5,000.00	\$45.00	\$22,500.00	\$70.35	\$35,175.00	
114	Machine Grading, Mod	1	Lump Sum	\$75,000.00	\$75,000.00	\$80,000.00	\$80,000.00	\$27,000.00	\$27,000.00	\$119,600.00	\$119,600.00	
115	Aggregate Base, 4 inch	920	Square Yard	\$10.00	\$9,200.00	\$9.00	\$8,280.00	\$7.50	\$6,900.00	\$7.35	\$6,762.00	
116	Aggregate Base, 8 inch	3,500	Square Yard	\$12.00	\$42,000.00	\$12.00	\$42,000.00	\$9.50	\$33,250.00	\$8.85	\$30,975.00	
117	HMA, 4E3, Mod	490	Ton	\$80.00	\$39,200.00	\$100.00	\$49,000.00	\$99.50	\$48,755.00	\$115.00	\$56,350.00	
118	HMA, 5E3, Mod	350	Ton	\$90.00	\$31,500.00	\$120.00	\$42,000.00	\$106.00	\$37,100.00	\$130.00	\$45,500.00	
119	Hand Patching, Mod	20	Ton	\$110.00	\$2,200.00	\$100.00	\$2,000.00	\$154.00	\$3,080.00	\$500.00	\$10,000.00	
120	Driveway, Nonreinf Conc, 6 inch	450	Square Yard	\$65.00	\$29,250.00	\$51.00	\$22,950.00	\$58.70	\$26,415.00	\$53.70	\$24,165.00	
121	Sidewalk Ramp, Conc, 6 inch, Mod	150	Square Foot	\$20.00	\$3,000.00	\$15.00	\$2,250.00	\$9.80	\$1,470.00	\$9.25	\$1,387.50	
122	Sidewalk, Conc, 4 inch	2,900	Square Foot	\$5.00	\$14,500.00	\$5.50	\$15,950.00	\$6.80	\$19,720.00	\$6.25	\$18,125.00	
123	Dr Structure, 24 inch dia, Mod	2	Each	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,100.00	\$4,200.00	\$2,025.00	\$4,050.00	
124	Dr Stucture, 48 inch dia, Mod	4	Each	\$2,400.00	\$9,600.00	\$2,500.00	\$10,000.00	\$2,375.00	\$9,500.00	\$2,665.00	\$10,660.00	
125	Sewer, CL IV, 12 inch, Tr Det B	320	Foot	\$80.00	\$25,600.00	\$72.00	\$23,040.00	\$65.00	\$20,800.00	\$80.45	\$25,744.00	
126	Sewer, HDPE, 8 inch, Tr Det A, Mod	800	Foot	\$30.00	\$24,000.00	\$40.00	\$32,000.00	\$47.50	\$38,000.00	\$53.55	\$42,840.00	
127	Culv, CL A, CSP, 12 inch, Mod	350	Foot	\$75.00	\$26,250.00	\$50.00	\$17,500.00	\$49.00	\$17,150.00	\$69.50	\$24,325.00	
128	Topsoil Surface, 3 inch and Seeding Mixture, THM w/ Mulch	3,900	Square Yard	\$5.00	\$19,500.00	\$5.70	\$22,230.00	\$11.00	\$42,900.00	\$8.48	\$33,072.00	
129	Water, Sodding and Seeding	50	Units	\$40.00	\$2,000.00	\$90.00	\$4,500.00	\$45.00	\$2,250.00	\$54.00	\$2,700.00	
130	Traffic Maintenance and Control	1	Lump Sum	\$20,000.00	\$20,000.00	\$21,500.00	\$21,500.00	\$6,790.00	\$6,790.00	\$30,000.00	\$30,000.00	
131	Project Cleanup	1	Lump Sum	\$10,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00	
132	Dr Structure Cover, Mod	2,900	Pounds	\$3.00	\$8,700.00	\$2.00	\$5,800.00	\$2.00	\$5,800.00	\$1.90	\$5,510.00	

 Total Part B (Items 99-132):
 \$537,040.00
 \$522,100.00
 \$473,019.00
 \$660,807.50

 Total Part A + B + C (Items 1-132):
 \$3,206,311.25
 \$3,136,805.00
 \$3,193,373.60
 \$4,089,704.30

Other Bidders	Total Bid Amount:
Cadillac Asphalt LLC	\$4,537,191.00
2575 S. Haggerty Rd.	
Canton, MI 48188	